SSLC EXAMINATION MARCH - 2019
MATHEMATICS - ANSWER KEY
BINOYI PHILIP, GHSS KOTTODI-9446270923

1. (a) 40°
(b) 140°
_—
2.(@)7/7=1
b)l+2+..+7=1+42+..+7=7x8 =4
7 7 7 7 2x7

3.A(2,4),B(4,8)
oalola’=8-4=4 = 2

2
=2

k=-10+8=-2
(b) 0w aleWIeel 8@ milazaem” (X, ¥) ag)esod

y—8 =2
x—4
y-8=2(x-4)
=2x-8
ie2x—-y=0
OR
y =2x

4.P(x)=x*+2x+5
(a)P(1)=1*+2 x1+5=8
(b)Px)=x*+2x+k

x—1) 8@ *2ISGHRIOGIMIGI
P()=1°+2 x1+k=0

3+k=0
k= -3
5.(a)2
(b) 101, 108, 115, ............ 997

6. <ADB = 90’ (@ndeuomemlee Gdoemd)

<ACB = 110° (yomomlmgsgleal eaem)
<AEB = 70° (270 — (90 + 110) = 70, QJom@®1a0 o000 G06Mm)

7.(a) 9 (X 913 QINEEMOM als:MIQeS AIB|o)
(b) 8 (x 1} WEMB&HEWOMW ale:MIQOS ABPRMM” 16)
(0) a c1:@es a1Id@odemo b
ie(a/2)’=b
a’4=b
ie a’ = 4b

8. (a) <A=46"
(b) tan 44° = AB/BC
(c) tan 46° = BC/AB

tan 44° x tan 46°= AB x BC
BC AB

=1




3 cm GREOMITI YOMo QAlMs] YOHEH@ONI@ Mo

6 cm @R®6eIB @PsWIgsqe|semse:. AB @es awy milaz C
CH@@IBH AUAYAN QYO0 ERHBIHOD YOO P, Q agaml
nflens1ad golesan, BP, BQ cwixla logs..

10. (a) X anaxomlael enag (X, 0)
ie (x=3)*+ (0—4)* =4
(x-3P+4°=16
(x=3)=0
x-3=0
x=3
(3, 4) apam mmanmd mawoe 4 QMg ERG:eeIQss mila (3, 0)
(b) (x-3)*+(0-4)*=5*
(x—-3)+4*=25

x-3)7=9
X—3=43
X=6,x=0

(3, 4) apam mNazaN@d Mlawoe 4 QeM1g” reeeiQss smilaesd (0, 0), (6, 0)

11. (@ BC=BD+DC=15+15=30cm
(b)AD’ = AC* - CD?

=25"-15°
=625-225
=400

AD = V400 = 20 cm

a1@laj@oo 1 = 20 cm

alodwimel aloqjsal= 2al = 2 x 30 x 20

=1200 cm’

12. 4 cm @EROECMIG QYOImo QIO BT BRYO AUAYD:.
®MIG1Hs3aM CHOMMDHBOS M1 GRYOO G
0Q” 06" @RYOEBBUY QIMs) GWIRTa [losd,
02101 010m0® AB @es m1go 4 cm

13.(@)1+2+3+...+100=100x 101 =50 x 101 = 5050
2
(b) 1 +3+5 +....... + 99 = 50% = 2500
(©2+4+6+.....+100 =50 x 51 = 2550
(A)3+7+11+ ... +199=(1+3+5+..... +99) + (2 +4+6 +....... + 100)
= 2500 + 2550 = 5050




14. (2) @RoD algHud = 24
(b) MeImogss «10De:3 = X

iex = _1
24 3
Xx=8

(€) a13JMOR8B 2 10D5:86S ag)epo = 24 — (7 +8) =9
a12JQIH0M88 TVIWi® = 9/24 = 3/8

15. () a2I1®@0o
(b) N =x -2
™80 = X
aloasal’ = 440 m?
ie x(x —2) =440
x* - 2x = 440
X -2x+1=441
(x—-1)72=441
x—1=+v441
x—1=21
X =22
mgo = 22 m, ol = 20 m

16. (2) <A = 45°
(b) AD=5
ie AP =PD = 5/v2
AAPD @os aloqjsai’= % x AP x PD = % x 5/V2 x 5/V2
=25/4 = 6.25 cm?
(c)AB =2x5~2=5V2cm

Tomm@leo ABCD @es aloajgal’ = AB x PD = 5V2 x 5/V2 = 25 cm?

17.(a)
(b)
(9 C4. 4

C(4, 4

ALl D) ] JE('L 1)

-2®

= oy

18. (a) <PAC = <ABC
(b) <PAC =x ie<ABC=x
<PCA =y ie<ACB=180-y
<BAC = 180 — ( <ABC + <ACB)
=180 (x + 180 —y)
=180-x-180+y
:y_x
(c) <PAQ = <PAC + <QAC
=x+ % <BAC
=x+ 1(y-x)
:X+_¥—l
2 2
::Z+X
2

19. (@) P(x) =ax*+bx + ¢
PO)= -5
ax0*+bx0+c= -5
c=-5




(b) P(x) = ax* + bx — 5
X — 1 epis@mmoeImoos P(1) =0
ieax1?+bx1-5=0
a+b-5=0
iea+b=5
() ax® +bx + ¢ D AVAANDIEBIE €= —5 0oa + b =5 9o GR®ITE A
ieQ(x) =2x*+3x-5

20. (a) EsN20NEOOM YOMIUOIIOMR Eh@eEmem = 360° — 160° = 200°
(b) a0l YOO lQOS @Ry I = 8
QYODIGH@WeIBs @d:1S1908 @Ry R @ry@o@d

I =X

R 360

_8 =160

R 360

R x 160 = 8 x 360

R= 8x360 =18cm
160
alel gmagoﬂ@;@@s @Yo S @BRYWITI

s =X

R 360
_s =200

18 360

s x 360 = 18 x 200
s= 18x200 =10cm
360
(€) Yo ayal@es 210100 = ®&:1S100} @Re = 18 cm

21. (a) y @nauomIeel X yaldavoaly 0 erloleso
(b) ie3x0-2y=6
y=-3
OA = 3 @emlg”
(0) X ERaUoIeL! Y Myald:avoaly 0 er1oles.
3x—-2x0=6
3x=6
xX=2
ie OB = 2 @emlg”
y=x
ie3x—-2x=6
X=6
ie P(6, 6)

22.(@ x1=2 ,x2=_3, x3s =4_
9 9 9
X1¥Xo+x3=2 + 3 + 4 =2+3+4 =9 =1
9 9 9 9 9

(b)X4+X5+X5: i+_6+ =5+6+7 :ﬁ =2
9 9 9 9
(€) eByeom 9 aigamBges @»=1+2+3=6
(d) eriyeom 300 azsEmges @ =1+2+3 ... + 100 =100x 101 =5050

2

7
9

23.

3cm

Zcm ©

3cm




24. (a) o

60° 300

- §
P
(wy)
I
o
3

(b) AABD o3
AD =tan 60°
AB
AD = AB x tan 60°
=X X V3=V3X cceuererenn. (1)
AACD 0\@3
AD =tan 30°
AC
AD = AC x tan 30°
= (x+40) x IV3=(x+40)V3...couu..... )
ie V3x = (x + 40)/V3
3x =x+40
2x =40
x =20
aJoes oflel = 20 m

25. (a) CP = 6 cm (o@og0104:8605 MI86EBU3 @elyo)
(b)AC=AQ+QC=4+6=10cm =AB
BC=6+6=12cm
ajggai’ =AB+BC+AC=10+10+12=32cm
S=32/2=16
aloajgal’ =VS(S—a)(S-b)(S-0)
= 16(16 — 10) (16 — 10) (16 — 12)
=V16x6x6x4
=4x6x2=48 cm?

(c) @rEo = aloqlsal/S

=48/16 =3 cm
26.
2LIN@Galo @RS UB Ql§0qlo
YOOIy N, @Yoo =T, ®WEo =T 1/3 JIr®
@RAWENIB @R)Qo =T 2/3JIr?
680 @00 =T 4/371r°

(a) @rowdeniawo = 1/3 JIr* : 2/3JIr® : JIr® : 4/371r°
=1/3:2/3:1:4/3
=1:2:3:4
(b) ewogemaad aiyato = 4/37Ir° = 4/3 x JIx 6°
QYOO Qs algdage = 1/3/Ir*h = 1/3x JIx6°x 6

YO BSOS af)sRo = CNISOMNY QIYdq o = 4/3x JIx62
YODNYa NSHQOS Qlfda o 1/3x Ix6°x6

=4




27.(a)C(2,2)
(b) aigpmve = V(x, = X1 + (2 — y1)
=V(4—0) + (0 -4y
=V32=4V2
@)oo = 2V2
Yomomlead macaso , (X —a)’ + (y —b)* =r
(x - 20 + (y — 2 =(2V2)"

X —4x+4+y —4y+4=8
X +y —4x—-4y=0

(0 x=y
X+ xP—-4x-4x=0
2x°— 8x=0
x-4=0
x=4
Nz (4, 4)
28.
©WOo CM &S1HBOS af)epo ©WOo CM BS80S
ag)éro
130 - 140 7 140 @3 ®oey 7
140 - 150 9 150 @3 ®oey 16
150 - 160 10 160 @3 ®oey 26
160 -170 10 170 @3 @™oy 36
170 — 180 9 180 @3 @y 45

(a) 23 -90 HOD HS1YOS LWERE” AWYA VWO
(b)d=(160-150)/10=10/10=1
17--20 0® &H31Qes 9woo = 150 + 1/2 = 150.5
(c) @BYaIze 150.5 9o Halo@aly®ioave 1 Do @RV MVAIMMEEUYREMIWOS 7-0 al3BeM” AW N0
iex;=x;+6xd
=150.5+6x1
=150.5+6
=156.5
AWyn 9o = 156.5 cm

OR

awyn 9oo =1+ (N/2-m)c = 150+ (45/2-16)x 10
f 10
=150 + (22.5-16)
=150 + 6.5 = 156.5 cm

29. (a) 4

(0) @ro®. 2019 @8 M’ cLeaMIVIeEL! BG alBo $:04J2@ SHIFAN® HaL@AIY® MR 3 HAF VMR’
ie (2019 -3)/3 =2016/3 =672

(d) 1 (poy@mesnd 3,6, 9, ........ 2019 ...... @RI Wlayo 1 ERVIRIY.)

(e)3n-2

(f) 23n -2




